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QUESTION 1

Which of the following correctly describes a WSDL (WSDL 1.1) definition defining a certain service specification?

<definitions name="Example"
targetlamespace="http:/ xylmaster.org/examp le/ vadl"
xmlnz:cna="http://xinlwaster.org/example/ wadl®
¥mlnz:xzd="http: /S erwlmazter . org/exanplae/wadh
¥mlns:soap="http://achemas.xmlsoas.org/wadl/Sscap/ "
xmlna="http://=schemas.xmlsoar. org/ wadl,/ ">
<types>
<zchema targetNamespace="http://*mlwaszer.ory/examyle/ xad™
¥mlns="hotp://wvww. w3 .org/ 2001/ XML3caema >
<element name="Docuwment ">
<complexTypex
<gequence >
<element name="Title™ type="stsing™/>
<element name="Content" type="atring”/>
</ zequencer
</oomp lexTypes
<felements>
</ zchemas
</types>

<message name="ProcesshocumentMessage >
<part name="body" element="xsd:Documenz"/>
</ nessage >

<portType name="ExamplePortIvpe™:
<operation name="Processhocument >
<input message="tns:ProcesslocumentMessage™/ >
</ operation>
</ portType:

<binding name="ExampleloapBinding™ type="tns:ExamplefFortType™>
<goap:binding style="docurent” transpost="http://schemas.xmlsoas
<operation name="ProcessDocument >
<gnap:operation Soapliction=""/>
<input:>
<gnap:hody use="literal"™/ />
</ ilnpuc>
</ operation:
</binding>
</definitions>

A. The service operation is a "Request-response"” type

.orogfaoap/ htep™d s

B. The service operation is RPC oriented, and either a parameter or return value is included in the SOAP message

C. HTTP protocol is used to send the SOAP message to the service sideC.HTTP protocol is used to send the SOAP

message to the service side

D. The service side URL (endpoint URL) is specified to send the SOAP messageD.The service side URL (endpoint

URL) is specified to send the SOAP message

Correct Answer: C

QUESTION 2

When processing the following "XML Document" according to the method shown by "SAX Processing," which of the
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following correctly describes the output results (print method output)?

[EML Document]

<docr<content>East<! [CDATA[ &] ] >West</content»</doc>

[SAX Processing)

Tae the following "ContentHandlerImpl™ class, and parse the XML Document using JAX.

Lzzsume no exXecution errors.

class ContentHandlerImpl extends DefaultHandler |

public void characters(char[] ch, int start, int length) throws S4XException

IJystem.out.print (new 3tring(ch, start, length)):

b
h

A. EastWest

B. EastandWest
C. EastWest

D. East

Correct Answer: B

QUESTION 3

Push the Exhibit Button to load the referenced "XML Document".

[EML Document]
<UTnfinished xmlns="urn:xmlmaster:UNFINISHED >
< Item:-
<Tnrker ¥mlina="arn:wxmlimaster :TMMORERRT
MName="Jeff Workman"/>
<Aotivity Zmlns="urn:«mlmaster:VISIT"
Code="000z "
<DateTime>2004-07-01 13 :00</DaceTimex>
<Jobh Procedure="Install air conditionec™
Time="2"/>
<S5tatuss>WLITING</3tatus>
</ Aotivicys
o TLems
< Item:-
<lMorker =wlns="urn:=Zmlmaster: MOREER"™ MName="Jim
Worker"/ =
<hctivity =mlns="urn:xmlmaster:VIZIT"
Code="0003 ">
<DateTime>2004-07-01 16:00</DateTime>
<Job Procedure="Clean alr conditioner"
Time="z"/>
<3tatuss>WLAITING</Status>
</ Aotivitys
</ Item>
</Tnfinisheds

When processing the "XML Document" according to the method shown by "DOM Processing," which of the following is
the most appropriate expression of the results under XML 1.0? Line feeds and/or indents are not reflected in the results.
Assume that the processed XML Document has no indents (ignorable white space such as line feeds, tabs, etc.).
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[DOM Procesing]
Create XML using the following method.
Docurent output = createddL( doc, impl ) :
The swariable doo here references the lUocunment 1hstance of the loaded XML DocudneEnt.
The wvariable impl here references the DONImplementation instance.
The DOM parser is namespace avare.
Azswne no executlon errors.

public static Document createlML (| Document doc, DOMInplementation impl |
String nawe = "Jim Worker™;
Dozument output = impl.createDocument [

"urn:xmlmaster:LIST™, "List"™, null):
Elzment root = output.getlDocumentElement () ;

NodeList nl = doc.getElementsBEyvTaghameNS ("urn: xmlmaster : WOREER"™, "Worker™) :
for (int i = 0; i < nl.getlengthi(); i4+4+) {
Element el = [Element)nl.item(i) :
il (ml.ygeLdailiribivbe [ "Nome™) cegquels (ame) ) F
Element elem = output.createElementMI |
Purn:xmlmaster :LISTH, "WisitcList™):
root.appendChild{output. importiNode1el, true)]):
Elewment 22 = (Element]el.getMNextIiblingi) ;
root.appendChildioutput. importhode 122, true)]:
H
i

recurn output:

A. 2004-07-01 16:00 WAITING

B. 2004-07-01 16:00 WAITING

C. C. 2004-07-01 16:00 WAITING
D. D.D. 2004-07-01 16:00 WAITING

Correct Answer: C

QUESTION 4

Push the Exhibit Button to load the referenced "XML Document".

[ZHML Dozument]

Yoot
<data x="1" y="Z":3</data>
<data *="1" y="4">f</data>
<data ®H=M1"T y=reregotdacas-
cidata ®="1" y="grx1Z</datar

</ root

Assume that the character "3" is obtained from the "XML document”. Select which XSLT style sheet correctly performs
the transformation. (Multiple answers possible. Select two.)

A.
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B.
C.
D.

Correct Answer: BD

QUESTION 5

Select which of the following correctly describes the results of performing a validation check on "XML Document"”.
Assume that the XML parser correctly processes the XML Schema schemalocation attribute.

[ZML Document]
<TestlL xmlns="urhn:xXmlmaster:cestml™
xmlns:xsi="http:/ vvw. w3 .org/ 2001/ XML3chema-instance™
¥xal:achemalocation="urn: smlmascer:testml tcestml.xsd":>
<record lewel="1" data="100" />
<record lewvel="Z"™ dats="2Z50" />
</ TestML>

[Cestml.xsd]

“x3:3chema
tnlna:xa="htecp:/Sfvww. w3 . org/ 2001/ XMLSchema™
targetMNamespace="urn: xmlraster:testml”
*xmlns:ctns="urn: xmlwaster:testml'=>

<¥3:import namespace="urn:xmlmaster:testml™
achemalocation="record. xsd™ />
<xa:element name="TeatML" type="tna:testmlType™ />
<¥s:complexType name="testmlType":>
XS Ssequence>
<x3aielewment ref="tna:record” maxOccurs="unbounded" />
</ w31 3equences
</uz:complexTypesr
</ ®3:schemar

[record.xsd]
<X3:3chema
mlna:ws="http://fuuw. w3 . org/ 2001/ XMLSchema ">
<us:element name="record" type="recordType" /=
<xg:complexType name="recordType">
<xa:attribute nawe="lewvel"™ type="w3:int"™ S
<us:attribute name="data" type="xs:int"™ S=
</®aicomplexTypes
</ warachemar

A. Valid

B. The coding for the XML Schema Document is not appropriate; therefore, an error is thrown (initial error)
whenprocesing the "testml.xsd" import element

C. The coding for the XML Schema Document is not appropriate; therefore, an error is thrown (initial error)
whenprocesing the "testml.xsd" ™"

D. No processing error, but is not valid.

Correct Answer: B
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